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PA unsigned char xdata CO _at_ 0xf1f0; [/o & ht
PB unsigned char xdata C1 _at_ Oxflfl; [/o T ht
PC unsigned char xdata C1 _at_ 0xfl1f2; [/o =4k
Ccw unsigned char xdata CW _at_ 0xf1f7; 8254 w4+
[BF

OBF char BT
STB

1 int 1=0 PB #7 3
j int j=0 PA #7%%
K, c int k=0; int c=0; FEE




#include <REGH2.H>
#include <stdio.h>
/¥ 8254 B Biraw

—/;1
v

*/

unsigned char xdata PA _at_ 0xflf4;
unsigned char xdata PB _at_ 0xflf5;
unsigned char xdata PC _at_ 0xfl1f6;
unsigned char xdata CW _at_ 0xfl1f7;

char IBF;
char OBF;
char STB;
int 1=0;
int j=0;
int k=0;
int c=0;
int main (void)
{ /%

N

w

419200 BAUD 11. 0592MHZ)

#ifndef MONITOR5I

SCON = 0x50;
*/

TMOD [= 0x20;
x/

THI = Oxfd;
11.0592MHZ  */

PCON |= 0x80;
19200 @ 11. 0592MHZ */

TR1I = 1;
x/

TI =1;
UART x/
fendif

IBF = (PC & 0x20)>>5;
OBF = (PC & 0x02)>>1;
CW=0xb4;

STB = (PC & 0x20)>>4;

printf("1 to read, 2 to write\n")

while (1)

%/

//3k = 8 71#(57600 BAUD 11.0592MHZ)

/% SCON: mode 1, 8-bit UART, enable rcvr

/% TMOD: timer 1, mode 2, 8-bit reload

/¥ TH1: reload value for 9600 baud @
/% SMOD=1: Double the baud rate to

/¥ TR1: timer 1 run

/¥ Tl: set Tl to send first char of

K



{
scanf("%d", &k);
if(k==1)
{
if(IBF==1) //¥ & IBFf £ F 5 HE %
{printf("reading... \n");
j=PA;
printf("%x", j) ;
}
else
{
printf("put on the STB \n"); // 4% ABAd ¥ E& L * ’ﬁ d
b oA k%4 STBE & ($82C255d IBF 7 g #r® e /%
}
}
if(k==2)
{  printf("Write\n");
scanf("%x", &i);
if(OBF==0) //# 40BF¢ £ F ¥ rE © &L 7 9

{ PB=i;
}
else
{ PB=i;
printf("put on the ACK\n "); //4c% (2% P|d ¥ F & i * Hd
AR - BACKFERR Y — Gy e 2 % % 8202009 OBF 7 sk e & 3 o

} oo
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STB- & # # » , ACK- & 7 ) &)

« 4% STBXACKE ¢ - B %#Flowm ¥ - BRlAfe 8 R Llowd & %

g e ?
4oSTB4~ 4~ % high, ACK % low, A4z & fopF STB% = low™r ¥ @&
4-STB & ACK‘?;’lg % low, P|STB- & + %5] »~ ACK- = %J !
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